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TrA=T4EIYF<A>

ERE 57,600 A
RE 1,470 A/B x30= 44100 H
EEREE 370 A/B x30= 11,100 A
T AT 4tk 1,309 F/B  x30= 39,270 A
AN2NEBEDIHE it 152,070 A
BAZEDHA it 317,070 A
FA=T 1Y <B>
ERE 57,600 A
BE 1470 A/B x30= 44100 H
EEREE 370 M/B x30= 11,100 A
T AT 4tk 990 /B x30= 29,700 M
AN2NEBEDIHE it 142,500 A
BEDGE &t 307,500 M
TA=T4tY<C>
ERE 57,600 A
BE 1470 @ /B x30= 44100 H
EREE 370 M /A x30= 11,100 A
FAZT 4k 627 A /B x 30= 18,810 M
AN2NEBEDISE it 131,610 A
BAZEDHA it 296,610 A

(EFZE% 5500 A/A8)

(EFZE% 5500 A/A8)

(EFZE% 5500 A/A)

X BES EHZREENSHLEE. R, FREESRLELET,

SF6E6H 1 BIER



4y Bl SORMESHER
~EIERU/NE)T—a FmE () ~
<7T0@mLLE>1, 28638 FRrBR4H I

TrA=—T4EIYF<A>

ERE 24,600 A
BE 690 /B x30= 20,700 A
EEBRER 370 A/B x30= 11,100 A
T ATtk 1,309 A/B x30= 39,270 A
AN2ANBEDSE it 95,670 H
BE=nDZE &t 260,670 A

TrA=—T4tY<B>

EEE 24,600 H
BE 690 M/B x30= 20,700 A
EEBRER 370 M/B x30= 11,100 A
T AT 1Yk 990 A/A x30= 29 700 A
AN2NEBEDISE it 86,100 H
BEDHE &t 251,100 A

Tr*=—T4EY<C>

ERE 24,600 A
BE 690 M /B x 30= 20,700 A
EEBRER 370 @ /B x30= 11,100 A
TA=T4tvk 627 M@ /B x30= 18,810 H
AN2NBRBDSE &t 75,210 H
BAEDHA it 240,210 A

(EfZ=%8 5500 H/8)

(EfZ=%8 5500 H/H)

(EfZ=%8 5500 H/8)

X BES EHZREFENSHLEE. JE. FREESELELTT,

SF6E6H 1 BIER
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TrA=—T4EIYF<A>

ERE 15,000 A
BE 330 A/B x30= 9,900 A
EEBRER 370 A/B x30= 11,100 A
T ATtk 1,309 A/B x30= 39,270 A
AN2NEREDISE &t 75,270 H
BE=nDZE &t 240,270 A

TrA=—T4tY<B>

EEE 15,000 A
BE 330 M/B x30= 9,900 A
EEBRER 370 M/B x30= 11,100 A
T AT 1Yk 990 A/A x30= 29 700 A
AN2NEBEDISE it 65,700 H
BEDHE &t 230,700 A

Tr*=—T4EY<C>

ERE 15,000 A
BE 330 @ /B x30= 9,900 A
EEBRER 370 M /A x30= 11,100 A
TA=T4tvk 627 M@ /B x30= 18,810 H
AN2NEBEDISE it 54,810 H
BEEDIHE it 219,810 A

(EfZ=%8 5500 H/8)

(EfZ=%8 5500 H/H)

(EfZ=%8 5500 H/8)

X BES EHZREFENSHLEE. JE. FREESELELTT,

SF6E6H 1 BIER



